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Introduction


The suggested answers in this book are designed to be informative rather than prescriptive and should be used as a guide on what to look for in and how to assess an answer. Each question is accompanied by a mark, all of which follow the Common Entrance mark scheme for history. The appendix at the back contains a copy of the mark scheme, which should help with the allocation of marks for a particular question.




1 Henry VII, 1485–1509


Exercise 1.1





1  Henry’s claim to the throne was not a strong one. Although his mother, Lady Margaret Beaufort, was descended from Edward III, an Act of Parliament had made the Beauforts illegitimate, which meant that they could not claim the throne. However, Henry did have a claim if the Act of Parliament was ignored. In addition, he was far more popular than Richard III. (4 marks)








2  (a)  The reason why Henry VII dated his reign from the day before the Battle of Bosworth was to show that his claim was not just based on his victory over Richard III. (2 marks)


    (b)  The reason why Henry VII married Elizabeth of York was to unite the Houses of York and Lancaster and bring the Wars of the Roses to an end. (2 marks)


    (c)  The reason why Henry VII called his son Arthur was because Arthur was the great legendary saviour King of England, so Henry wanted to associate his line with him. (2 marks)








3  It is suggested that the organisation of these points could be in the format of an argument and counter-argument, using the writing frame below:



    Henry VII faced many problems that threatened to destroy his reign early on. Some of these were more threatening than others.


    Probably the most threatening problem that Henry VII faced was … This is because …


    He did face other problems, although not as threatening. This is because …


    In conclusion, Henry VII faced major problems during the first part of his reign. He managed to successfully deal with the most dangerous because …


    The list of problems that Henry VII had should include the following:








    •  There were nobles who had become ‘over-mighty subjects’, i.e. noblemen who could challenge his authority and threaten his position as king.


    •  The nobles had previously been allowed to keep their own private armies.


    •  Some of these senior nobles had strong political power.


    •  There were still some powerful high-profile Yorkists who had fought against the King.


    •  The priest Richard Symonds tried to pass off one of his pupils, Lambert Simnel, as Richard III’s nephew Edward, who was rumoured to have been murdered.


    •  Lambert Simnel received support from the Earl of Lincoln, who led a rebellion against the King.







    The list of ways in which Henry VII dealt with his problems should include the following:








    •  He dealt with the practice of retaining by restricting the size of the force a nobleman could keep.


    •  He introduced recognisances – money held by the king that belonged to nobles, which could be forfeit if they misbehaved.


    •  He used members of the gentry as administrators on his council and as Justices of the Peace, so that the nobles had less influence.


    •  He reorganised and changed the use of the Court of Star Chamber, and re-established the Council of the North and the Council of Wales.


    •  He was able to defeat the Simnel rebellion and gained support of the Yorkists by having Elizabeth of York crowned queen. (30 marks)





Total for exercise: 40 marks


Exercise 1.2





1  The answer should contain the following points, including the dates of when the events occurred:








    •  Perkin Warbeck claimed to be Richard of York, the younger of the ‘Princes in the Tower’.


    •  He travelled to Ireland (1491), France and then to Burgundy (1492) to drum up support.


    •  He was recognised as Richard by the Holy Roman Emperor (1493).


    •  He had support from Scotland (1495).


    •  He married the cousin of James IV (1496).


    •  He led a Scots invasion into England but this failed (1496).


    •  He joined the Cornish rebellion and was captured (1497).


    •  He escaped and was recaptured (1498), and then executed (1499). (10 marks)








2  This answer needs to include an analysis of why one reason is more important than the others. The explanation should contain the following points:








    •  Perkin Warbeck seemed to some to be a plausible claimant to the throne.


    •  He had some powerful support, i.e. Emperor Maximilian and James IV, King of Scotland.


    •  He had links with William Stanley, who had been so vital in Henry’s victory at Bosworth and was a very powerful nobleman. (30 marks)





Total for exercise: 40 marks


Exercise 1.3


Rather than simply listing the factors that led to the rebellions against Henry VII, this answer needs to analyse them. One approach is to categorise the causes as ‘longer term’ and ‘shorter term’. Another is to categorise the causes as ‘political’, ‘economic’, etc. A third approach is to argue how one cause is more important than the others. (30 marks)


Total for exercise: 30 marks


Exercise 1.4





1  (a)  Retaining was the practice of nobles keeping their own private armies. This meant that these nobles could be a threat to Henry. Henry restricted this practice to reduce the threat. (2 marks)


    (b)  Recognisances were a way of controlling the nobility by holding on to large sums of their money. The nobles would lose this money if they were not loyal to Henry and rebelled against him. (2 marks)


    (c)  Henry changed the Council so that only those nobles who were invited were allowed to attend. It became more efficient and professional, with specific people and committees responsible for specific tasks. (2 marks)


    (d)  Henry used the professional classes as officials in the Council and to advise him. These men included Richard Empson, Edmund Dudley, Reginald Bray and Edward Poynings. (2 marks)








2  The answer should include all the different methods that Henry used. A good answer could include a quote from Polydore Vergils’s assessment of him: ‘Henry wished to keep all Englishmen obedient through fear … when his subjects who were men of substance were found guilty of whatever fault he harshly fined them by a penalty which deprived them of their fortunes’.



    Henry tried to control his nobility through a number of methods:







    •  He introduced recognisances, whereby the nobles had to pay a large sum of money which they would lose if they were not loyal to the King.


    •  He distributed lands to lesser nobles and took land away from disloyal nobles.


    •  He changed the format of the Council so that you had to be invited to attend, and used the professional classes rather than nobles to advise him and run the Council.


    •  He increased the power of the Court of Star Chamber to deal with rebellions and appointed Justices of the Peace from the gentry and professional classes rather than nobles.


    •  He re-established the Council of the North and the Council of Wales so that he did not have to rely on the nobles in these areas. (20 marks)





Total for exercise: 28 marks


Exercise 1.5


Henry’s foreign policy included the following:




    •  In 1489, he signed the Treaty of Medina del Campo with Spain. In this treaty he agreed that his son Arthur would marry Catherine of Aragon, the daughter of King Ferdinand and Queen Isabella of Spain.


    •  In 1492, he signed the treaty of Etaples with France.


    •  In 1502, he agreed to the marriage of his daughter Margaret to James IV of Scotland.


    •  In 1508, he betrothed his other daughter Mary to the Archduke Charles of Burgundy, although this marriage never took place. (20 marks)





Henry’s main aim in foreign policy was to make his throne secure and to prevent other monarchs giving assistance to pretenders who wished to overthrow him:




    •  The Treaty of Medina del Campo showed that he was a powerful, legitimate monarch because the Spanish sovereigns were prepared to marry their daughter to his son.


    •  The Treaty of Etaples got the King of France on his side after the Perkin Warbeck affair. Warbeck had had assistance from France.


    •  The marriage of his daughter to James IV of Scotland stopped any claimants to the throne using Scotland as a base to invade England. (10 marks)
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